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def pasgalTrlangle impl(nt
Lf !

ré%tlrr}' [[1]]

else
result-pascalTriangle impl(numofrow-1)
Ist-result[ 1]
newlist-[1] ER: BKiEH

i , BHE—BT, T
for 1 in range(len(lst)-1 Ei,qg}i—v“

newlist.append(1lst[i] 1 t[1 & . BNEA

newlist.append(1) §y3qﬁﬂ£
result.append(newlist)

return result

def pascalTriangle(numofrow)

# get the list of rows

result pascalTriangle impl(numo;

# formatted printing

formatedLst-[]

for 1 in result
s-str(i).replace(’',’, '")
formatedLst.append(s[1:-1])

maxL-len(formatedLst[ 1])

for 1 in formatedLst
print(i.center(maxL))

if name -=" main__
pascalTriangle(10)
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t.goto(X, Y)

Y=y0

hilbert curve goto(t,
hilbert_curve_goto(t, x@:+Eyx
hilbert curve goto(t,
hilbert curve goto(t, x0:+Exx:f
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level: %)
sidelLen:
None

s=T.Screen()
51deLen float( LdelLen
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mode( 1ogo")

“—n

.up()
t.goto(-sideLen,
t.down()
t.speed(0)
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hllbert _curve forward 1mp1(
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for i in range(2)
t.forward(step)
t.right(90) if clockwise

t.forward(step)

++ Al —H =it

return
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forward(newstep)
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